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QUESTION 1

You backed up the database at 8 a.m. today using an online backup. Accounting made a large change to the underlying
data between 10 a.m. and noon.

Which of the following actions would ensure that the changes could be recovered using the 8
A. m. backup?

B. Create a manual incremental online database backup.

C. Back up all the archived redo logs generated since the 8 a.m. backup.

D. Create a brand-new backup after all the changes have been applied.

E. There is no way to make the changes recoverable based on the 8 a.m. backup.

F. Perform an online backup of the tablespace(s) that contained changed data.

Correct Answer: B

QUESTION 2

An index called ORD_CUSTNAME_IX has been created on the CUSTNAME column in the ORDERS table using the
following command:

SQL>CREATE INDEX ord_custname_ix ON orders (custname);

The ORDERS table is frequently queried using the CUSTNAME column in the WHERE clause. You want to check the
impact on the performance of the queries if the index is not available. You do not want the index to be dropped or rebuilt
to perform this test.

Which is the most efficient method of performing this task?

A. disabling the index

B. making the index invisible

C. making the index unusable

D. using the MONITORING USAGE clause for the index

Correct Answer: B

Invisible Indexes An invisible index is maintained by Oracle Database for every data manipulation language (DML)
statement, but is ignored by the optimizer unless you explicitly set the parameter
OPTIMIZER_USE_INVISIBLE_INDEXES to TRUE on a session or system level. Making an index invisible is an

alternative to making it unusable or dropping it. Using invisible indexes, you can:

Test the removal of an index before dropping it Create invisible indexes temporarily for specialized, nonstandard
operations, such as online application affecting the behavior of existing applications For more information, see Oracle
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Database Administrator\\'s Guide.

QUESTION 3

In Recovery Manager (RMAN), you are taking image copies of the data files of your production database and rolling
them forward at regular intervals. You attempt to restart your database. After a regular maintenance task, you realize
that one of the data files that belongs to the USERS tablespace is damaged and you need to recover the data file by
using the image copy. Because a media failure caused the data file to be damaged, you want to place the data file in a
different location while restoring the file.

Which option must you consider for this task?

A. using only the RMAN SWITCH command to set the new location for the data file

B. placing the database in the MOUNT state for the restore and recovery operations.

C. using an RMAN RUN block with the SET NEWNAME and then the SWITCH command.

D. configuring two channels: one for the restore operation and the other for the recovery operation

Correct Answer: C

QUESTION 4
The Automatic Database Diagnostic Monitor (ADDM) analysis runs every 60 minutes on your database.

Your database is facing a series of interrelated problems over a period of two hours. You need to ensure that the ADDM
analysis is run over a time span of two hours in future.

What would you do?

A. Create two custom ADDM tasks.

B. Modify the AWR snapshot time interval to two hours.

C. Create a new scheduler window for a time period of two hours.

D. Modify the Automatic Workload Repository (AWR) snapshot retention period to two hours.

Correct Answer: B

QUESTION 5
Which of the following files cannot be backed up by RMAN? (Choose all that apply.)

A. Database datafiles

Latest 120-053 Dumps | 120-053 Practice Test | 1Z0-053 Study Guide 3/4


https://www.pass4itsure.com/1z0-053.html
https://www.pass4itsure.com/1z0-053.html
https://www.pass4itsure.com/1z0-053.html

VCE & PDF https://www.pass4itsure.com/1z0-053.html
2024 Latest passditsure 120-053 PDF and VCE dumps Download

PassditSure.com

B. Control files

C. Online redo logs
D. Database pfiles

E. Archived redo logs

Correct Answer: CD
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